Ecole Saint-Gabriel

1. Soustrais:

1) 3987

5) 2654

31

7) 78242

1220

9) 98429

2317

3™ primaire

Date: lundi 23/11(X)
Mardi 24/11 (Y)

La Soustraction

4) 2654

31

6) 35672

4320

10) 852972

1182




La soustraction avec retenue

1. Soustrais:

1) 9842 =357 = weveeeeeeeeaenn

2) 20000 — 5821 = cvvveernnnenne.
3) 98721 — 9720 = c..uveenene....
4) 35797 — 28980 = ....c.uueeen..n.
5) 37005 — 51219 = veeeuveernnnens
6) 42590 — 948 = ...eeeruneennn.

7) 70000 =700 = ...eeeeneenn.n.

8) 23111 — 13216 = veereuveernnnnen
0) 4272 =389 = ..eeeeeeeennnn.

10) 23111 — 13216 = weereuveernnnne
11) 7871 3128 = cuvveveneennnn.

12) 98247 — 49128 =..................




